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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x10=10

o] NIRRT Tet WAl 3

(a) If a matrix has 8 elements, what are
the possible orders it can have?

I B eS8 GNe A, (O0% 23S
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(b) What is perpetual annuity ?

Bzl A e

(c) State True or False :

o) @ g Bl g

“In LPP, all variables may not be
positive.”

“TRT AP FENS, HFE 516 (AT 7RIS
AR

(d) Fill in the blank :
QA] iR 734 I 8

| Ia"'dx=

(e) In aratio a: b, if a> b, then it is called
a ratio of inequality.
(Fill in the blank)

q% GOl SA® a:.bF, a> b, (SR T T
TS @ 2 |
(I 12 299 F91)
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() The ntt term of an AP is 3n-5. Find
the 15% term.

GB] IR A9feT n O oWel TF 3n—51
29TSLoR 15 ©F Wﬁqﬁrmﬂl

(g I interest is cofnpounded half yearly,
what is the formula for finding
amount ?

Wwwm%mﬂmﬁﬁmw
fFefar <51t 7ace! &

Given (fwai =itz)
A= Amount (&)

P= Principal (3&4)
r= Rate =2 2R) -

n= No. of years (I=R)

(h) Define limit of a function f(x) at x=a.

x=a'® f(x) TEWR SR e Fa o
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Fill in the blank :

YT B #[Y T 3

% (TR) =

where x denotes the volume of oﬁtput.

TS x (T Tesifre ANAS JERCz!

Write one difference between matrix and
determinant.

Gl OiE Hde ere o« ol

- 2.  Answer the following questions : 2x5=10

©H] oMY Teg Tal ¢

(a) A man spends 85% of his income. If

his saving is ¥ 37'50,‘ find his salary.

G CE (993 TINER 85% W6 AR Az
37-50 Bl TR AE | (067 W) el T
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(b) If (af)

x+3y y| |4 -1
7-x 4| |0 4

find the values of x and y.

x % y3I N Sfered |

(c) Divide Rs. 52 among A, B and C in the

5 1.L.1
ratio 234"

=

52 531 A, B CI Woe 5: 404
TS it 74 |

(d) What sum of money will yield ¥ 1,407
as interest in 1-% years at 14% p.a.
simple interest. |
TR 14% 1 Joo 1 4Rt e 14 a9

3% 1,407 T T'I|

(¢) Evaluate (R 1) :

. AJl+2x —+1-3x
im

x—0 X
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3. Answer the following questions : (any four)
Sx4=20

$k Azt o1f<o ek T faal 3

' R | 1
(@ If (@TF)A= [2 _1},8-—-[‘; _1]

and (%) (A+ B)* = A® + B,
find the value of a and b.
(COU% a JF b W [efg F11)

(b) The cost of computer is ¥ 1,00,000 and
its life period is estimated to be 20
years. After 20 years, the computer is
expected to cost more by 20% over its
present cost. Find the sum to be
invested every year at 5% p.a. CI for
20 years to replace this computer:

a5 SFEEBRT 5 1,00,000 51 WIE 2AR
GRaSE 20 IR (A 4& 2RI 20 I]H IS
2R o 20% @ AR | SISO 20 I
AFS Fel TR T ofe Iy [ oAfeR
Bl <2R 5% SagfE Toe G ¥ AW, Welw
=4 | |

4 (Sem-4/CBCS) HC2 (BMT)/G 6



BIKALI COLLEGE LIBRARY

(c) The total cost function for producing
x units of a commodity

TC = 300x -10x2 + %x3.

Find the output levels at which the
marginal cost is minimum.

x MRAE AN AR, 5 TAWMA [T Tl
TC = 300x - 10x? +—:_1,;x3.

i e Seolive HiEcE A JT Pou
7’3 [efa =11

(d) A Dbicycle agent allows 20% discount-
on his marked price and makes 20%
profit on his outlay. What is the market
price of the bicycle on which be gains
Rs. 2407?

GE BiRe Riareiz Fke JoR @o1Ts 20%
@3 AR s TamsE eoRs 20% @S
(4 | A SIREE IS 240 TF S FE, 0%

Sl Fie e e e
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(e) If the pth, gth, rth term of a GP are
X, Y, z respectively then prove that

x7 .y P.gf =] ¢
9Bl STGT 5o p o, gOF, rov *M T
x, Y, z TC oMY I[A @

x Tyl 2" =1 |

) If @) z=3x3-5x%y+2y°,

show that (2¥i9 F10) x-gz +y o2 =3z -

b oy

4. (a) Integrate (S ?F"QT) S 2Ye+2%%=5

W

(i) [(6x+8)V3x?+8x+2 dx

(bp) The marginal revenue function of a

product is MR =8+5x-x2%. Find the
total revenue and the average revenue,
given TR =82 when x=05. B

GGl TeAva] 2ifeF [JE! g wom T

MR =8 +5x - x2 | (o3 T RfF ww wir
o1e RFt g fefa <=1 | M =i TR=82
gw x=5I
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OR /[ @24

S. (a) Examine the continuity of the following

(b)

function at x=3: S

x = 3 I oeTo S I TN STz ot

=i 8
(.2
X =2 ¥ xud
F()=] %3 .
6 , if x=3

., dy dy Lo
Find —— (=~ fAefa ===1) 2Yo+2Y%e=5

() y=e*logx

Define ‘linear programming’ and state
its limitations. 4

3RS R Tt Ml S 23R AT
S 34|
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(b) Solve the following linear programming
problem by graphical method : 6

©F TR AN P! (77 S T
241 8

Maximize (3% W= A7 341) Z = 8x+ 5y

~

subject to (F¥¢ AMATF) : 2x+y <500
x+1y <250
x <150

x,y=20

OR / @23t

7. (a) Two mixtures A and B contain glycerine
and water in the ratio 4:5 and 3:2
respectively. How many litres of B must
be mixed with 81 litres of A so that
resulting mixture may contain equal

quantities of glycerine and water ?
. ) 5
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ol i A =i B {251 i AR Sisits
T4 : 59 3 : 2181 FioR AT e [Buiw
ﬂﬁmanWmﬁm—fﬁmﬁwwﬁﬁ
NS AN 272

(b) A man invested ¥52,000. on T100
shares at a discount of 2 20 paying 8%
dividend. At the end of the year he sells

the shares at a premium of Z 20.

Find —

() his annual dividend;

(i) the profit earned. S
- gGd TR (99 52,000 T 100 Tl v=

©ieH 2id 20 T (T22 TS 8% SIS U5ar |

IFE (TS (OF FAIENENE A o[d 20 Bl

wfdgRe Rl |

corg fHefa a1 —

(i) (oS I= TG ;
(i) CO€I Y O |
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8. (a) Solve by Cramer’s rule: S

(b) If (¥W) A -_{

(TFIRT AT [OF TS N[ 9 2

x+2y-z=3
3x-Yy+2z=8
x+y+z=0

O 1

0 0] and (¥<)

1
I =[O cl)jl prove that (¥4 3] @)

(al + bA)® = a®I +3a’bA 5

OR /[ @24l

A contractor undertook to build a house
in 21 days and engaged 15 men to do
the work. After 15 days he found it
necessary to engage 9 more men and

"he had finished it 1 day earlier. How

many days he would have been behind
time if he had not engaged the °
additional men ? S
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a5 Fomi 21 g @bt 3w IR W&t 15
e Wiz e FRE |15 AR Sigs (08 T9RiE
9 T« WZ st R I TEeE 1 =
e =5 IR0 | Tgace MR HEe 51
T, IO AN T oA 1T IR 2

(b) A man borrowed 9,000 to repay the
amount with interest of ¥ 1,000 by
monthly instalments decreasing
successivély by ¥20. In how many
months was the loan repaid, if the ﬁrst'
instalment of ¥ 640 was paid one month

after the sum was lent? S .

TS B 1,000 5 oz wAfRTeid 9]
JERES 9,000 TR GOl Al T o TR
A ARCNY IR TMZ 20 Tl F0es BRI
& s’s1 1 T B 49 (TR GRS {RCe AN
R 640 T RNy T 2, (SR
TES R W eIl HAfRed e ¢
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10. (a) Evaluate (39 Rda =) : 2Ye+2Ye=5

i) lim 4x3 +5x-1
x>0 6x° +7x% +4

@) lim “a“)‘c“‘/a

x>0

-

(b) From the 1st principle, find the

1
derivative of —J‘? ) S

1 |
amqaamaafﬁ,—ﬁ-amwﬁﬁﬂW|
OR / Q41
11. (a) Solve (FELA =) . | 5

a a x
m m m|=0
b x b
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(b) The simple interest on a sum for 3 years

at 4% is T 303-60. Find the compound

interest on the sum for the same period
at the same rate. S

4% TCE (S [AER 3 IT]E O
303-60 5 | 6 AT, emb:m—mi

Wmmﬁrﬁqﬁmr
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